=5 4Y/HIE o[0ix|

H
i)

B4 Ol 22 03 &
49
RIE M:

lelx Beixie g0z olsf 43 2l el Sl 218 wxls
X

o|Eo|- A 0IQ|_||:|._
EZ 037 EY 2 SE7| 26| Eid UL LRE 23 | x(of
U&LICH

THE:

ARIEF EL

AEILIAL &2|E.

7—|2|AH 047|.AA—| I:H* 3 :Eél
oI-E E”E E?I UI‘H

HEM OPFL:

22 E: AR FE Hdor 2 A™ L
LIAL £215: A AtsE &2l
2Z 0t3: MM AEE R 2.

Al
E4 MA HE.

QHMIA{R]:
AT 0| M

D2

L2

L1
L3

\ N

-0,02
D -0,04

© HEINRICH KIPP WERK GmbH & Co. KG

D1

www.kipp.com - info@kipp.com 1/2



)
AEl O|CA = =alAEIl AlS IL S
L8 QIGA SR, S22 B M ORlut 22 013 X8
ES 2%
oldA ZBIM, 2Y 1A US
FEHS Etel D D1 D2 L L1 L2 L3 AE=E3 SW1 SW2 Fx30° NESS Bt
S BHY &
F1 9. N F2 2. N
K1149.71105 A5 M10x1 21 435 17 7 15 5 13 - 1,3 5 12
K1149.71206 A 6 M12x1,5 25 51,7 20 8 17 6 14 - 1,8 6 14
K1149.71308 A 8 M16x1,5 33 68 26 10 23 8 19 - 23 15 35
K1149.72105 B 5  M10x1 21 435 17 7 15 5 13 17 1,3 5 12
K1149.72206 B 6 Mi2x15 25 517 20 8 17 6 14 19 1,8 6 14
K1149.72308 B 8 Mi16x1,5 33 68 26 10 23 8 19 24 23 15 35

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



